11”157 (Kl 17’1,157)

Linearized knot diagam

79 —>16—>2—>3—>4—>8—>11—>5— 10 —> C5,C7,C9
Ce C1 C2 C3 C8 C11 Cq C10

Ideals for irreducible component#ﬂ)f Xpar

I = (6371uM 4+ 7974u'® + - + 2417b + 9214, —7643u'* — 6072u'® + - - - 4 2417a — 4421,
ut® 4+ 2uM ot — ut? £ 50t 4 12080 4+ 1100 + 5u® + 8u” 4 1408 + 1165 + 5ut + 2u® + 3u® + 3u+ 1)
Iy = (—8.78150 x 10%%4*7 + 5.66569 x 1020 + ... 4 6.30688 x 10?%b — 6.14221 x 10%,
3.22564 x 102027 — 1.12906 x 10%8u25 4 - -+ + 3.94180 x 10%8a + 5.37899 x 10%°, u?® — 3u?® + .- + 15u+
I = (u® —2u” —u® + 3u® + 2u* — 6u® — 4u® + 3b + 5u, 2u® — 2u” — 3u’ + 4u® + Tu* — 5u® — 8u? + 3a + Su + 4
u? —u® —u” b 4 3u® —ut - 3u +u? 1)
I = (—u® — 2u* +2b — 4u — 1, a, ut +ud 4+ 202 —u+1)
IY=(b—u, a, u* —u+1)

* 5 irreducible components of dim¢ = 0, with total 58 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (6371u'* 4+ 7974u’® + ..

(i) Arc colorings
()

3.16218u* + 2.51221u!3 + -
2.63591u1% — 3.29913u!3 + -

;)

3.16218u' + 2.51221u!3 + -
2.63591u1% — 3.29913u!3 + -

0.526272u'* — 0.786926u'3 + -
—2.63591u — 3.29913u13 + -

2.88829¢1% — 1.53496u!3 + -
2.07654u'* + 3.02234u'3 + -

14.2950u — 17.2429¢13 + .
3.86512u'* + 5.89036u'3 + -

5.79810u'* + 5.81134u!'3 + -
2.63591u — 3.29913u!3 + -

9.56144u'* + 16.6558u'3 + -
1.10716u** + 1.23128u'3 + -

19.5668ut* — 23.8411u!3 + -
6.56103u* + 10.1800u3 + -

a7 =
ag =
ay =
ag =

ag =
aq =

ag =

a1 =

(
(:
(-
(
o=
(3
(
a-(
-
e

—19.5668u!% — 23.841103 + - - -
a0 =\ 6.56103u + 10.1800u!3 + - - -

(ii) Obstruction class = —1

11211L14

(iii) Cusp Shapes = —5;7=

- 4 2417b + 9214,
cvo 4+ 2417a — 4421, u'® 420 4 .-

15391 13
2417 ¢ +-

+3u+1)

-+ 8.43235u + 1.82913 )

- —7.27431u — 3.81216

- —7.27431u — 3.81216

-+ 7.43235u + 1.82913 )

-+ 0.158047u — 1.98304
— 7.27431u — 3.81216

- —10.3910u — 1.51055)

-+ 6.23211u + 2.68722

. — 37.4675u — 19.5999)

-+ 12.4721u 4 7.53496

-4 15.7067u + 5.64129
— 7.27431u — 3.81216

-+ 17.5350u + 18.8192
-+ 2.12495u — 1.23790

—54.0161u — 27.2242
-4 19.0364u 4 11.4803

— 54.0161u — 27.2242
+ 19.0364u + 11.4803

7549

21392
-+ 2417

2417

—7643u* — 6072u!8 +



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq u® —2uMt 4+ 3u—1
Co2,C5 u® +4uP o+ 21— 7
€3, C10 u® —u 4 4 9ut1
C4,C11 u® —ut 4+ 3u—1
cr u'® —9uM + -+ 89u — 13
C8 u'® = 16u' + - -+ — 384u + 64
Co u'® = 18u' 4 - + 166u — 13




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, Ce y15_2y14++3y_1
C2,C5 Yy + 8yt + ... — 371y — 49
€3, €10 Yt —23yM 4 4143y — 1
¢y c11 Yy 1Tyt 4 9y -1
¢ y'® —3y" + .- — 633y — 169
Cs Yt — 6yt + . 4+ 49152y — 4096
C9 y'® — 1dy™ + - + 1972y — 169




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.612704 + 0.7568561
a= 0.341418 — 0.1220167
0.566944 + 0.4161171

0.01045 — 1.915541

0.97885 4 4.276271

u = 0.612704 — 0.7568561
a= 0.341418 + 0.1220161
b= 0.566944 — 0.4161171

0.01045 4 1.915541

0.97885 — 4.276271

—0.749863 +- 0.8449091
a = —0.867808 — 0.5971011
—0.124797 — 0.3452241

IS
|

3.80312 + 4.842751

6.83327 — 2.974371

= —0.749863 — 0.8449091
= —0.867808 + 0.5971011
= —0.124797 + 0.3452241

3.80312 — 4.842751

6.83327 4 2.974371

—0.864919
= —0.417102
—0.552891

b
U
a
b
U
a
b

1.96166

8.66210

= —0.330359 + 0.7442771
—0.712671 4 0.1961181
= —0.743805 + 0.4810511

1.29784 — 0.915311

6.30482 4 3.518261

—0.330359 — 0.7442771
—0.712671 — 0.1961181
—0.743805 — 0.4810511

1.29784 + 0.915311

6.30482 — 3.518261

0.551581 + 0.5279181
3.41165 — 0.500641
0.17287 — 1.446171

—7.32770 — 5.277051

—2.66781 4 10.564421

0.551581 — 0.5279181
3.41165 + 0.500641
0.17287 4 1.446171

—7.32770 + 5.277051

—2.66781 — 10.564421

—0.620336 + 0.2020771
—3.98780 + 1.706041
0.32367 — 1.384551

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—8.37106 — 3.724071

—11.66592 — 1.714571




Solutions to I7*

V=1(vol + y=1C)

Cusp shape

—0.620336 — 0.2020771
—3.98780 — 1.706041
0.32367 + 1.384551

—8.37106 + 3.724071

—11.66592 4 1.714571

1.19608 + 0.938541
1.153170 — 0.1956311
0.12290 — 1.5429471

—10.07790 — 6.401991

—2.27236 + 3.458031

1.19608 — 0.938541
1.153170 4 0.1956311
0.12290 4 1.542941

—10.07790 4 6.401991

—2.27236 — 3.458031

—1.22735 + 1.002941
—1.129410 — 0.0490471
—0.54134 — 1.753021

—9.9244 + 14.74711

—1.34191 — 7.455051

—1.22735 — 1.002941
—1.129410 4 0.0490471
—0.564134 + 1.753021

—9.9244 — 14.74711

—1.34191 + 7.455051




II. I¥ = (—8.78 X 108427 + 5.67 x 10%8u?6 + ... + 6.31 x 10%9b — 6.14 X
1029, 3.23 x 1028427 — 1.13 x 10%8u?% + ... 4+ 3.94 x 10%%a + 5.38 x
1029, u?® — 3u26 4 ... + 15u + 7)

(i) Arc colorings

- ()

o= (o)
—0.818316u%7 + 0.286432u20 + - - - — 4.31215u — 13.6460
a1 = \0.139237u%" — 0.0898334u26 + - .. — 1.14880u + 0.973891
o ()
—0.778079u%" 4 0.383226u26 + - - - — 4.59508u — 12.6149
az = \ 0.198461u%" — 0.197076u?5 + - - - + 0.584769u + 1.65145
—0.579618u27 + 0.186150u26 + - .- — 4.01031u — 10.9634
a3z = \ 0.198461u%7 — 0.197076u?5 + - - - + 0.584769u + 1.65145
—0.554453u2?7 + 0.463290u26 + - - - — 15.3130u — 5.98983
as = \ —0.0847239u27 + 0.0398120u26 + - - - — 4.10503u + 2.09476
—0.920936u%7 + 0.383226u20 + - - - + 5.69064w — 14.7577
as = | 0.000248909u27 + 0.0199758u26 + - .. — 1.85550u — 3.21584
—0.957553u27 + 0.376265u2% + - - . — 3.16334u — 14.6199
0.139237u27 — 0.0898334u6 + - - . — 1.14880u + 0.973891
—0.530531u%7 4+ 0.278934u26 + - - - + 1.71271u — 9.93905
—0.307348u27 4 0.0603723u26 + - - - — 5.15516u — 3.44204
—1.47268u%7 + 0.509623u26 + - - - + 8.66934u — 25.3019
a10 = \ —0.0298670u27 — 0.135246u26 + - - - + 3.47164u — 1.07835
—1.47268u>7 + 0.509623u26 + - - - + 8.66934u — 25.3019
a10 = \ —0.0298670u27 — 0.135246u26 + - - - + 3.47164u — 1.07835

(ii) Obstruction class = —1

(iii) Cusp Shapes = —3.21687u*" + 1.77020u?% + - - - — 21.5171u — 59.2310



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cg u® =3 . —15u+7

€2, Cs5 u?® + 14025 + - - 4 18426u + 5476

cs, 10 u®® + 3u” 4 -+ 4 702u + 189

ca,C11 u®® + 150 + - + 1651u + 211
7 (u” 4+ 2u8 + 2u® — u* — 2u® — 3u? — 2u — 1)*
s (u? +u+ 1)1
o (u” + 3ub + 3u® — 2u* — 6u® — 3u? + 3u +2)*




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, e y? — 6427 + ... — 1233y + 49
¢, Cs y?® + 28177 + ... 4 251529108y + 29986576
28 27
€3, €10 y?® — 31927 + -+ - + 442746y + 35721
28 27
C4,C11 y=° 4+ 30y°" + - — 141473y + 44521
cr (" +4y° —y* —6y° — 3y —2y — 1)*
cs W +y+D"
Co (y" — 3y% + 9y° — 16y* + 30y — 37y% + 21y — 4)*




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.926441 + 0.3029337
0.835660 — 0.3959361
0.18430 — 1.565421

—8.81923 + 1.887261

—4.79602 + 0.46086.1

0.926441 — 0.3029331
0.835660 + 0.3959361
0.18430 + 1.565421

—8.81923 — 1.887261

—4.79602 — 0.460861

0.882336 + 0.3982621
—1.25789 — 0.695031
—0.127775 + 1.2227701

—1.98093 — 2.693401

1.01907 + 5.708771

0.882336 — 0.3982621
—1.25789 + 0.695031
—0.127775 — 1.2227701

—1.98093 + 2.693401

1.01907 — 5.708771

= —0.955589 + 0.4476931
1.361010 — 0.1029241
0.398158 + 0.1907661

—3.77470 + 4.568721

—6.86344 — 5.274951

—0.955589 — 0.4476931
= 1.361010 + 0.1029241
0.398158 — 0.190766.1

—3.77470 — 4.568721

—6.86344 4 5.274951

1.030270 + 0.4441431
= —0.777103 + 1.0218801
0.933329 — 0.0353091

—3.77470 + 0.508961

—6.86344 4 1.653251

1.030270 — 0.4441431
—0.777103 — 1.0218801
0.933329 + 0.0353091

—3.77470 — 0.508961

—6.86344 — 1.653251

—0.764988 + 0.3332031
= —1.036830 — 0.3030271
= —0.52562 — 1.878751

—8.81923 + 5.947031

—4.79602 — 6.467341

—0.764988 — 0.3332031
= —1.036830 + 0.3030271
= —0.52562 + 1.878751

> Q@ €| & €| & €| & & & | & 8| & 8|l & 8|l & 8| & g
Il

—8.81923 — 5.947031

—4.79602 + 6.467341
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

= 0.832170 + 1.0118607
—1.060780 — 0.0490881
—1.76309 + 1.006441

—1.98093 — 6.753171

1.01907 + 12.636981

0.832170 — 1.0118601
= —1.060780 + 0.0490881
= —1.76309 — 1.006441

—1.98093 4 6.753171

1.01907 — 12.636981

= —0.673430 4+ 0.1366051
1.99394 — 0.646371
= 0.282129 4 1.0920801

—3.77470 + 0.508961

—6.86344 + 1.653251

= —0.673430 — 0.1366051
= 1.99394 4 0.646371
= 0.282129 — 1.0920801

—3.77470 — 0.508961

—6.86344 — 1.653251

= 0.418095 + 0.2434251
= —1.095220 + 0.637666.1

1.18584 — 2.029881

—7.71921 + 3.464101

= 0.418095 — 0.2434251
= —1.095220 — 0.637666.1
= —0.84642 4 1.280051

1.18584 + 2.029881

—7.71921 — 3.464101

= —1.32892 4 0.763741
= 0.833463 — 0.3594421
= 0.576049 + 1.1051001

—1.98093 4 6.753171

1.00000 — 12.636981

= —1.32892 — 0.763741
= 0.833463 + 0.3594421
= 0.576049 — 1.1051001

—1.98093 — 6.753171

1.00000 + 12.636981

= —0.419083 + 0.0921281
= 2.45375 — 2.11929]
= 0.635857 + 0.1454391

—1.98093 + 2.693401

1.01907 — 5.708771

= —0.419083 — 0.0921281
= 2453754 2.119291

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —0.84642 — 1.280051
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= 0.635857 — 0.1454391

—1.98093 — 2.693401

1.01907 + 5.708771
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u= 128011+ 1.047101
a = —0.858059 + 0.1490521
b= —0.09070 + 1.771771

—3.77470 — 4.568721

—6.86344 4 5.274951

u= 1.28011 —1.047101
a = —0.858059 — 0.1490521
b= —-0.09070 — 1.771771

—3.77470 4 4.568721

—6.86344 — 5.274951

u=1.04709 4 1.399861

a= 0.358425 — 0.3706281 | —8.81923 — 1.887261 | —4.79602 4 0.1
b= 0.14931 — 1.673611

u= 1.04709 — 1.399861

a= 0.358425 4 0.3706281 | —8.81923 + 1.887261 | —4.79602 4 0.1
b= 0.14931 + 1.673611

u = —1.10276 + 1.429311

a= 0.207467 + 0.2689011 1.18584 + 2.029881 | —7.71921 + 0.1
b= —0.258042 + 0.6329241

u = —1.10276 — 1.429311

a= 0.207467 — 0.2689011 1.18584 — 2.029881 | —7.71921 + 0.1

b= —0.258042 — 0.6329241

u=—1.17174 + 1.493871

a = —0.243547 — 0.4075031 | —8.81923 — 5.947031 0
b= 0.45250 — 1.535731
u=—1.17174 — 1.493871
a = —0.243547 + 0.4075031 | —8.81923 + 5.947031 0

b= 0.45250 + 1.535731
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I I¥ = (u® —2u" + -+ +3b+5u, 2u® —2u"+---+3a+4, v —ud —u" +
u® + 3u® — ut — 3ud +u? +1)

(i) Arc colorings

o ()

0
ag = u
2,8 1 2,7 8 4
(e s e
1
a6: _u2
—%u8+§u7+---—%u—§
a2 = —%u8+%u7+-- —l—%uQ—gu
(—u8+§u7+---—}0u—%>
= 1,8 7 2
8 2,7 5 1
e,
(u8—§u7+ +§u+§>
= |2,8_"2,7 8 1
T \Zul—gulttputy
—%u8+%u6—|—- —u— 4
ay; = _%u8+%u7+._.+%u2_%u
(us—2u7+2u5+2u4—4u3—2u2+5u—1)
= 1,8 1,7 4
%u872u7+~~~+2u+%
alg = %u874u7+' Jr1730u7%
gu8—2u7+~ —|—2u+g
o= g0 — 7 oo R

(ii) Obstruction class =1

(iii) Cusp Shapes = Hlu8 — 207 — 1846 4 Lo + Syt + 295 — 2042 4o — 13
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq W = w4+ 3 -t =3+l
Ca,Cs u? —u® 4+ 20" — 208 — 3u® + 6ut — 9P + 1202 —6u+1
€3, C10 u? +4ud + 40" — 3u8 — 6w’ +2ut + 9 + 55Ul +2u+ 1
C4,C11 w4+ 40" + 8ud +4ut + 100 + 50 + du+ 1
cr u? + 4u® + 6u” 4 2u® — 6u® — 9ut — 9 — 9 —du—1
C8 w? —2u® — "+ 6ub — 20 —6ut + 9P — 4 —u+1
Co u? — 5u® + Tu” + 10u® — 43u® + 40u* + 32u® — 101u? + 85u — 25

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce v —3y8 +9y" — 15¢° +19y° — 19y + 93 + 92 — 2y — 1
2,5 y? + 3% — 6y" — 225 + 9y° + 44yt — 2313 — 487 + 12y — 1
€3, C10 y? — 8y® + 28y" — 55y° + 84y° — T4yt +43y> + Ty? — 6y — 1
C4,C11 y? + 8y® + 32y" + 8495 + 152y + 176y* + 1249° 4+ 47y* + 6y — 1
cr y? — 4y® + 8y" — 2298 4 28¢5 + 23y* — 293 — 27y% — 2y — 1

c8

y° — 6y° + 21y" — 38y5 + 40y° — 18y* + 25¢° — 22y + 9y — 1

C9

y? — 1198 + - + 2175y — 625

15



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

uw=0.925729 + 0.2989011
a = —1.65967 — 0.292031

b= 0.186675+ 0.8437391

—3.44968 — 2.279181

—6.79542 + 4.074051

uw=0.925729 — 0.2989011
= —1.65967 + 0.292031

—3.44968 4 2.279181

—6.79542 — 4.074051

b= 0.186675 — 0.8437391

u = —1.06290

a= 0.677227 1.40144 —6.42530
b= 0.297798

u = —0.835681 + 0.8872601
a= 1.154510 + 0.4295181
b= 0.301332 + 0.8629701

3.17057 + 5.555561

0.67256 — 7.787391

u = —0.835681 — 0.8872601
a = 1.154510 — 0.4295181
b= 0.301332 — 0.8629701

3.17057 — 5.555561

0.67256 + 7.787391

w= 1.117240 + 0.8440251
a = —1.015900 — 0.1922447
b= —0.93544 + 1.174931

—2.48959 — 5.916651

—4.21171 + 4.651141

w= 1.117240 — 0.8440251
a = —1.015900 + 0.1922441
b= —0.93544 — 1.174931

—2.48959 + 5.916651

—4.21171 — 4.651141

u = —0.175840 + 0.5571491
a = —1.31756 — 2.505591
b= 0.29853 — 1.515611

—7.80162 — 4.265261

—1.95279 + 3.528411

u = —0.175840 — 0.5571491
a = —1.31756 + 2.505591
b= 0.29853 4 1.515611

—7.80162 + 4.265261

—1.95279 — 3.528411
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IV.I} =(—u®—2u? +2b—4u—1, a, u* + u® +2u®> —u+1)

(i) Arc colorings

o= (o)

0
agz u
0
ay = %u3+u2+2u+%
1
a6: _u2
—%ug—uQ—Qu—%
az = ud 4+ u? 4+ 2u
1,3 1
U — 3
a3 = \ud +u?+2u
1 1
()
aq = 1
443
asg = —1
1,3 2 1
—5u” —ut—2u— 3
ann = %u3+u2+2u+%
wWHur+u—1
a5 = f%ug—UQ—u+%
0
aio = \u

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u? + 4u? + 4u + 11

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C4, G ut 4wt 2u? —u+1
C11
Ca, Cs ut +3ud + 50 + 6u+4
€3, C8, €10 (u® 4+ u+1)?
7 (u—1)*
Co u4

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, ¢4, C6 y* 4+ 3y° + 8y + 3y + 1
C11
€2,C5 y'+y® —3y° + 4y + 16
C3,C8,C10 (y2+y+ 1)2
cr (y—1)*
Co y4

19



(vi) Complex Volumes and Cusp Shapes

Solutions to If VvV—1(vol + /—1CS) Cusp shape

0.309017 + 0.5352331

= 0 1.64493 — 2.029881 11.00000 + 3.464101
= 0.80902 + 1.401261

0.309017 — 0.5352331

0 1.64493 + 2.029881 11.00000 — 3.464101
0.80902 — 1.401261

—0.80902 + 1.401261

0 1.64493 + 2.029881 11.00000 — 3.464101
—0.309017 4 0.5352331

—0.80902 — 1.401261

0 1.64493 — 2.029881 11.00000 + 3.464101
—0.309017 — 0.5352331

> 2 €|l Q2 €| & €|l & €
I
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V.I! =(b—u, a, u>? —u+1
5

(i) Arc colorings

o= (o)

ag =
ayp =
ag =

ag =

(
(
(
(
o= (7
(
(
(
(
(

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,C
1,€3,¢4 u2 +u+1
€6, C10, C11
2
C2,Cs, Cs u®—u—+1
C7,C9 u2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
v +y+1
C4, C5, Ce
€8, €10, C11
2
C7,C9 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I V—1(vol + /—1CS) Cusp shape

u = 0.500000 + 0.8660251
a= 0 — 2.029881 0.+ 3.464101
b= 0.500000 + 0.8660251

u = 0.500000 — 0.8660251
a= 0 2.029881 0. —3.464101
b= 0.500000 — 0.8660251
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Crossings

VI. u-Polynomials

u-Polynomials at each crossing

C1,Cq

(u? +u+ 1) (u* +u® 4+ 2u? —u+1)
W = D)W =20 4 3u— 1)
(U —=3u® 4~ 15u+7)

C2,Cs

(u? —u+ 1) (u* + 3u® + 5u® + 6u + 4)
(= u® 4 2u” — 208 — 3uP 4 6ut — 9uP + 120 — 6u + 1)
(w4 4ut 21w — T) (U 1400 £ - - 4 18426u + 5476)

€3, C10

(W +u+1)3)(u® +4u® + -+ 2u+1)
(=Mt 9u 4 1) (0 A+ 3w 4+ T02u + 189)

C4,C11

(u? +u+ 1) (u* +u® 4+ 2u? —u+1)
'(“9+4U7+'--+4u+1)(u15—u14+---+3u_1)
(u®® +15u® + - + 1651u + 211)

C7

u?(u — 1)*(u” + 2u® 4+ 2u® —u* — 2u® — 3u® — 2u — 1)?
(u® + 4u® 4 6u” + 2u® — 6u® — 9ut — 9u® — 9u? — du — 1)
S(u'® = 9uM - 4 89u — 13)

C8

(u? —u+1)(u? +u+ 1)
(= 2u® —u” 4 6ub — 2u® — 6ut + 9uP — du? —u+ 1)
(u!® = 16u + - — 384u + 64)

Co

uS(u” + 3ub + 3u® — 2u* — 6u3 — 3u® 4 3u + 2)*
(u® — 5u® + Tu” + 1068 — 43u® + 40u* + 32u® — 101u? + 85u — 25)
C(ut = 18uM + -+ 166u — 13)
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VII. Riley Polynomials

Crossings Riley Polynomials at each crossing
.. (2 +y+ 1)y +3y° + 82 + 3y + 1)
1
’ (= 3y° + 9T — 15y° + 1997 — 199" +9y° + y* — 2y — 1)
Sy —2y" 4+ 3y — (™ - 6y*T + - — 1233y +49)
(v* +y+1)(y* + v — 3y* + 4y + 16)
2,65 Sy + 3y8 — 6y —22y° + 9y + 44y — 23y — 48y% + 12y — 1)
(y'® 4 8yt + - — 371y — 49)
- (y*® 4 28y 4 - - - + 251529108y + 29986576)
(v +y+1)°
€3, €10 9 8 7 6 5 4 3 2
(y” — 8y° 4+ 28y" — 55y° + 84y° — Tdy* 4+ 43y° + Ty* — 6y — 1)
Syt =23yt 4+ 143y — 1) (y*® — 31977 + - - + 442746y + 35721)
e (P 4+y+1)(y* +3° + 82+ 3y +1)
4,C11
(y° 4 8y® + 32y7 + 8445 + 152y + 176y" + 124> + 47y + 6y — 1)
(P 41Ty 4 — 9y — 1) (v + 3097 + -+ — 141473y + 44521)
o vy — DUy +4y° —y' —6y° —3y> —2y —1)!
(y? — 4B+ 8y" — 2295 + 28¢5 + 23y — 2993 — 2792 — 2y — 1)
(y'® —3y* + - — 633y — 169)
s (v +y+ D
(1 — 6y° + 21y" — 38y° + 40y° — 18y* + 25y° — 229% + 9y — 1)
(Yt — 6yt -+ 49152y — 4096)
co yO(y" — 3y° 4 9y° — 16y* + 30y — 37y% + 21y — 4)*

Sy — 1198 4 -+ 4 2175y — 625)(y*° — 14y + -+ - 4 1972y — 169)
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